- e BN BN B B B 1

L]

Sig; @ﬁ@lﬁ:@tﬁmmﬁuﬁm%aﬁwmﬁgmmmuﬁﬁﬁﬁwm%|qﬁmﬁﬂgﬂ?1-aﬂ2

' 7-, frefeRad s 3 Terd e 1 T

.’_

(FHTE-HFTH) T ATHR TR ? =)
(A) T . (B) WaH §L ©) e, (D) aﬂﬁqa »
A cylinder-is intersected b}} a plane inclined at an angle of 45 degrccs to its axis. What is the shape of the

resulting cross-section ?

(A). Cirdle bl @ () Hypeibol” (D) Ellipse
(%5° _uaeql & _ :
2.\ aﬁ%ATmah@DBU% a‘rDOGmaﬁm@" £ ; s
If the code for CAT is DBU, what is mci;qﬁﬂ'ia for DOG ? : e B R
(A) EOF ; (B) DPFo.-h'--_-'_@J (O EPH (D)’ EPI?‘.
3.. UGS - e
TR AN ? ., N A 3
(A) S@T : ® ¥ (C) dfE, o
Complete the analogy. - : 3
"Glove: Hand:: Sock:? =~ © O )
(A) Shoe ®) Foot - <] (€ Am = (D) Head
4.  WEEQUHRT b |
Saftg-anft ; safeam: Tﬁm@t ? ® _ Y
(A) EEReT ¢ o (B) gt - <J © (C) TEEEN (D) FR
Complete the analogy. s B $
Astronaut Spacecraft : Dwe; ? 0:5 o ' b !
(A) Bicycle (B) Submarine @) (C) Airplane (D) Car
5. RSN FEEAT] _ ' - |
Find the dissimilar numbers. WEAT ® o U'.S
. A A9 | 8,27 (C) 4 2 - (D) 16,25
6. aﬁmwwﬁﬁamm@?%wmsﬁ@@wmwm%a G

o ! (HR) PN FTE 2, A TROMH STz (18- SFT) T ATHR F1 80T 2
o () IREERT)  (B) ey GEg) ¢ (O) R (i) (D)W(ﬁzwﬁ)

If you have a regu_lar icosahedron and;yOu@ce it along a plane that intersects six of its Tfaces, what is the
shape of the resulting cross-section ? 8

(A) Rectangle ,(B) Hexagon O (C) Trapezoide (D) Pentagon £

Identrf)zﬂle incorrect number i in the followrhg series. S a

(A) %Hﬂ ® 79 0@ (© Yoy

- It R aﬂtmaﬂ%g@w&m&w mﬁmﬂﬂmﬁﬁ?ﬂ?ﬁﬁ%ﬁaﬁnﬁwmﬁmm

“"ﬁaﬁa 22 <
RO ® =t ﬁgt ©wW N o

Pointing towards Aneesh, a woman sa1d “HIS mother is the only dau%hter of my mother.” How is the
woman related to Aneesh ? LR -"ll"'-

———————— e
(=
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9.
iR % st A ® 7 o6 3 st 3 s # e s ﬁqaﬁﬁi%ﬂgﬁ%agwmﬁs%wﬁ%ﬁaﬁ
@mw% I
(A) 1—3@,2—%1?,3-@63,4—%3 O (B 1—133,2-%1,%%6[5,4-%
(€) 1-%aT,2-Je, 3 -G, 4 - 90 g O | -9, 2%, 3T, 4 -8
Four people (1, 2, 3, 4) each pick a different 1t — apple, banana, cherry and date. The person wh'c; ipicked
the apple is next to the person who picked} banana and not next to the person who picked the date. The
person who picked the cherry is next to the rson who picked the date.
The correct combination is : )
(A) 1-Banana, 2 - Cherry, 3 — Date, 4 —ﬁ)ple (B) 1 - Apple, 2 - Banana, 3 — Date, 4 — Cherry
(C) 1-Banana, 2 — Apple, 3 —Date, 4 - @j’yny (D) 1-Cherry, 2 — Banana, 3 —Date, 4 — Apple
10. 3 HifTe 3 vrelt s (X) ¥ U e gohet & -6t sTrpfat e ST Eedt S |
Find out which of the figures can be formed from the pieces given in the first figure (X).
®
0 J
R
w
(A) (B) ® © D)
11.  sTrpta & Bl it e 3 Hife |
Find the number of triangles in the figure.
(A){ 16 (B) 12 ﬁ C) 8 D) 9
12. fmwmarghu ® \
Choose the odd one out. :
o WA o BL TR © QR LR
GW.Z-24 5 | 26 Page B OFRd TN e
B e Ik

U O

SREANT (1, 2, 3, 4) STT-IE Bel T & — d, ¥ hal, ﬁ%aﬂtwlﬁqwﬁﬁ%ﬁa@aﬁ»—cﬁﬂﬁm@

OD | 0.7'5 } o8 o ¥
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2 Bt BN W NN '

i .
Dl o
13. R i i safter sAT (FF) 6@ §1@ H:
Find out the number of the cubes that ar%rrangcd in the figure given :

O
<
Q
®

; o) .
A) 16 B) 24 3}9 17 D) 18
14, Frefiad i & S-a1 amiva/de wivemett, Arareii SHAT-Rar (57e) % o wag $ qtard ?

Which of the following diagram/set indicates the relation between women, mothers and parents 7

A

; ®
15 'a@ﬁwa&mgﬁﬁamaﬁrﬁmw&waﬁmwwﬁ _
Find the mirror image of the figure, if the mirror ig‘_&]aced at XY.

X W

I

Y O ‘ | ':-./ e
’ D
}Q s
GWZEE ™ (VT 17T ST Simeenenneneass
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LJ'I

@ @ waet @WABCDE&?{F& QA e e 2 | Qefrmmrﬁm%lf,pﬁm
¥ AT TRt 7 | C T Fehiet 8 A ¥ fomnfea 81 BYFu iR | B, E & e sebm weifera & 2
a) foa (B) W& (O (D) =f

In a family of six members, A, B, C, D, E and F, meﬂ are two married couples. D is a teacher ‘and the

fajher of E. F is the grandmother of E and a housewx@c is a lawyer and married to A. B is not a male
oW is B related to E ?

(A) Father ; (B) Sister (O Aunt (D) Mothcr
@ 2 T T T WA AT 78 R, A et e gt e R 7

If the sum of three consecutive even numbers is 78, what§is the second largest number ‘?
(A) 30 - * (B) 24

)28 ) 7@ i 6
- e (e B g 36
Whatswil b ext number in the seried.? ﬂ
.6, 18,72, 350, .. S 25 \
@ 1260 (B) 2180 ] (C)_ 1820 (D) 2160 :

19. WIS F AR, IF 0, 1, 2,3, 4 Y T A, B C,D, Eﬁumﬁmﬁm%l[(3+ﬁ)~(D+A)]$rﬂﬂm
Hifsa1 :
According to the code, digits 0, 1, 2, 3, 4 are represen@ by A, B, C, D, E respectively. Fmd the value of
[B+E)-(D+A)] ;
@A) -2 ®) 1 | (@3 @ 2

(.9, 20 @ 24 =9 9H)

mﬁwmmﬁmwmm&wmmwmmﬁm% 3t ffe =t e
wftrefiera 3 < 2, Tt wifeed, e, o 3 st Y ST e & afsha S S T F e e R | Ao |
Tt 7 Ferhre 3 T T % T A Pt w3 g & wg g €, foa % g A uge e ofk gm s et §
e 1 a7 Ara S o1 A +f 2 s ¥ | gafg A SR snfores g A we-ay ot w5 < e
%, o formr g Fo sreevge a1 er = o ST | wafRe < g A g oY &7 S St R, |t fOe e S S
%lwmﬂmmmﬁwﬁmmﬁmﬂu@t@mﬁﬁﬁm%ﬁmw@nﬁmm
wmﬁmmm&wﬁm%uﬁrwﬁ%aﬂwﬁ@waﬁmﬁ%mﬁwér

20, Gﬁmﬁrmaﬁ%%ﬁﬂﬁm%? O
mm@ﬁﬁmm : (@ﬁﬁaw—@wﬁﬁmm
A AT 1 RS s WeHf-STTT ST T e NT6 ohieh
e fermTa = watior 7 e S wwan 8,
(A) “itferen afET gofern wRafda grmr o ®
B) e FEAAa S A E |
Sftar 5 et erefterar 1w T gor |
arfee, o, et i Hee S & Praifa )

22. -rePie 1 araarEr i gater 3 ot e 2, 9 '

&aﬁuﬁmffaﬂm@ri 1 TS 3T T, 3hT 4T A fAT S |
( mwmnﬁﬁﬁa@aﬁmml ( ﬂmmwﬁﬁmmml
< T 7 e A A O T Page§of2d = TR
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23, ST A I SR i st 3 wft g wiehre] &, i ; _
(A) 8 Hifig sifves vimi et R /mﬁ A $4T 3 gfe STuaH =& 2 |
(Qy T SIS F Tl ST T 2| 47 o e forq o6 et wiftealt v 2
@ T g R o watfores weeerget 2 )
o (A) e gation fom |
T T (©)  ifasfier Sfied @ Yearad |

% (B) Sfta w1 et sitfoes forpmar | ]
" 25 frefen i d @ e g

(D) sfta =1 wilt fasm |

e ww (B) & © tf L @
‘26, PR d R =itz 7 o, -
(A) TTS (B) FIWE T (C) s @) wE
27, femaEREd: e T EOTNY S
A (-) ® () O O 1) By e O
28. %&rmﬁ*m’mmmﬁﬂw%s@@n%? S B
(A) & TIF TG0 AT | €BY. T vt R <t AT T
©f sesrRag i) % I, H SSA |
29. YHERTC HTHBRE : % ? - ‘ g
@& ®E 0 ®) W@ S (C) §RI® (D) weood
30. A ISE H WHAEIR F1E 2 el . G
) s (B) TdewmEgA® (o), foe (?)‘qﬁ :
TEH T TR A R | Vo BT s e
(A) FATEEH T H TR BT | B) WE@ET '
(C) a1t anfinar fegmr (D) |ed FIN IS Fa
32. MW HBH-ATEAER? ) .
(&) T - ® wehm () TR R
- 33, Frefiied ¥ & o 1 R e A g 2 2 .
(A) I ®B) Tm @ ©fwm - -@ww
34. T g i e A i gand €] 7 S R
(A) 3T TG Fal & B mHfSis? - X
(C) 3T T qY ST e ©% (D) ot = RyAET R0,
3s. ‘wﬁmmﬁ’mmﬁaﬁnaj@wwﬁ:ﬂm%? e Al
() de (B) © W - (D) T
36. et sy & forq T oraTert qUERR 3 or Rt £ & 2 5w
(A) ghmEwe da B) TEwET= () faw3 1) (D) WREHET Sgae

37. W - T wIeE-g T e A R ; _
(A) e _wreft (B) gt—’rw_swﬁr\ L (O) WIpE-dH (D) Swfd-gew |

-
o s e e e
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i Toman s iswgs et
(A) FEEEFE  (B) WwEEEA () THEES (D) HFF e
39, WOV e anf R

() T (B) whm () =i (D) fme
W, TF RN WAl afi v s g

et et ofrer ¥t et vt )

T i T R

(A) M (B) YWHwT .[ca:]i.'lﬁm (D) T
1. Tl & & S v=mER T ¢ : _

(A) T9% (B) T {n@mﬁa ' (D} w9
. TS EEn e R {

[ (a) s stam (B) Fwqam (Gyk: BT (D) ey

43, ! o — et st free 9P -

() it g

(C)" v - Fm (D) == s

4 mygoaslfdmia wawishasate

(AY T9= FEHH (B) Hﬁmaﬁm {C&}Fﬂﬁﬂﬁ‘ﬂﬁ (D)) am:a‘t-'umﬁ ‘,—

R ] i T — EL ol

(A) =T \B) Eg'?lﬁ - (D) T=A,
. ﬁnﬁnﬁﬂﬁﬂaﬁtﬂam?ﬂwﬁrﬁq %
(A) i e R <) %wﬁmmm T e
(C) v & o] i ; wad Wt g, 0
47 AR AT AT - e 1 o g o s -
(A) 2 % wow v & R e - (A= & T =
(C) , ol T oy (D) Fefie 3 o =
48, Frefeiea § § sige 7= w1 B ARl s o
(A) T+ B) F+3% (C) a: + 77 @) =+ 3T
4, _znwmmlhmﬁrgmﬁmmmﬁﬁmm@
(A) wmiFmefis (B) - TeEE @omimmin (D) el
S0, Freferfion # & F-ar sm T vt )
(4) =it (B) g () =t (D) wm
SL. Fam e ; FhO A = | G
(ay W (®) 7 ' o%z.{ﬁ_ : ) =
51 W e g B R T gy 3
(A) EElT!iTE.EI'-'I'ﬂT (B) M, T (C) =, o &) o, W
T ko SR N - i e
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83w v & few watward we sifau

(A) Atz ) gl ‘ (C) e (D) Thfa
S4. faaft v &t stren v aven A  ferv o v ST |
)
(A) e M) gl 4 © A (D) ¥

85. mm&mm%ﬂmﬁ@mmﬁmwﬁ?

(A) 1, m.amm.m () (B) 3T, 3, 341k, F

(C) T, 1, JTHI, ATF Tt (D) 3ATHT, 3T, T,

¥[& A & =9 i | ®

(A) @ =T W&t € 7 397, T e 7T 8| (B) sﬂmrﬁmﬁ:mgzo

(C) a3 Fa @, el a0 oA s s (D) mﬁﬂ:rgrrffwaﬁ ﬁﬁrggi\

afe ufem &t 2fémr.afem & aga R se, @ S A e et fegr s 2
(A Fatgd (B) Iw-ufm O (C) afErrgfem (D) *qﬁm
If West is replaced by South-West, then No{l} will be replaced by :

h- Eabt (B) North-West (C) South-West (D) Sou!
: l% ort
gDuﬁQ qaﬁkzm%@m% ar g2l feran stmam 9 ’j‘D

If954?4 is wnllcn as KGFIF, then how WI@Z143 be written ?
" (A)\JCDEF (B) DCF (D) JDCEF
TN
59 ﬁwmmaﬁ’rﬁm | ’2,0’\ w

Find t nypber in the followmg series.
144,(1782,£073¢ > .
(A) 1782 (B) © 12 (D) 144\q
60. @aﬁ%waﬁww% w &<t 3 foar <61 w%a%lasﬁwaeﬁaﬁww

27
o

(A) g (B) << © O, O T \ \ /ﬁ,
Introducing a boy, a girl said, “He is the @ of the daughter of the of my uncle.” How is t rl
related to the boy ? ® .

(A) Brother ®) Faber () Mothgpl g (D) Sister \J\

61. e H aTelt He g AT 6,24, 120, ThY,

Find the next number in the series 6, 24, 1 20,

(A) 5004 (B) 544 ‘ﬁr\ y Wl 5040 (D) 5400
@mﬁmmmﬁmn,sm g\,

Find the next number in the series 11, 39775, 119,

(a) 171 (B) 161 (©) 191 (D) 181
| s s R e Page8of24 T TTTTTTTTITITTIITITTmmmmmmese
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63. ﬁquﬁwﬁﬁﬁw%ﬁmmﬁ}mf ﬁ)ﬁaﬁﬁm%,aﬁ?ﬁmﬁwhﬁnmnﬁmmqm”
afitsAat % for va # 0 ) AT @R |

T HATSTHI TS 51 S UG o WIEAw | T 4910 Fi's ¥ a1y URAISHT &1 G i & forg, iftrrad 20%
HHTT T TTEHTH d G, ATSTHI Toieft Bl et feberft TR T o ot Agfer & STt e 2 -
(A) T 5500 FE (B) ¥ 5892 % (C) T5254HUS (D) T4845FUS .«

The given pie chart illustrates the various g(_;_ﬁrces of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phase -I{ Projects.

U
External Assistance
11,486 %

)

Market Borrowing
29,952

<

To support the project with € 4910 crores throEg toll collection by an outsourced agency, allowing for a

maximum 20% commission, what is the total @.:ﬁount that the outsourced agency should be permitted to
collect ? - '

(A) T 5500 crores (B) ¥ 5892 crores (»} (C) ¥ 5254 crores (D) 4845 crores
4., IR 103 AR 6T R | e o § 2

In a class, Sambu is ranked 10 from the top E{ﬁl 36! from the bottom. How many students are there in

the class ?
(A) 47 (B) 45 (C) 44 (D) 43
GWZo4 =~ =TT J/ ‘ """"""" T Y S S e s
4]
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65. K. LAwhRahy L Nagad) NKAIAR smafso MmAnld) oF K P Ha 22
(A) w (B §w (c) ut (D) fiam
K is L's wife and M is L’s sister. N is the daughter of K, while O is M’s mother. What is the relation of O
toK?
(A) Father-in-law (B) Mother-in-law (C) Mother (D) Father
66. @ é siwen # & famy (@ner) 1 va Afeng
Find the odd one oul{Tm given series : O
486, 482, 478, 474, 472, 366, Q é‘
(A) 466 (B) 478 (&lan (D) 474
67. % T 50 frcinfizr wfa w2 A nfir & 250 Preites R gl et & 1 e g w0 R g i 2
(A) 7 (B) S . (@) 6 52 (D) 4%
A bus travels a distance of 250 kilometers at a speed of; 5‘0 kilometers per hour. How much time will/t fake
to complete the journey ? H:
(A) 7 hours (B) 5 hours (% 6 hours (D) 4 hou(sj\__/-‘
Feferfa iy 3 qegien #-dt & 2 ©) @
W&mﬂ in the following sequence ? - _ 0
3, 18, 99, 360, 108D, 216D, ,0 9—\%
(A) 1080 (B) 2160 ©) 0 (D) 360
afé INSECT & JQTFDU, HOUSEFLY & IPVTFGMZ & &9 ¥ e, faT 91T 8, af BUTTERFLY &t
fore waR e forma s 2 ®
© PLDIINSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERFL ¢ code t
(A) GMGUUCVF (B) BVUUGMSG (C). CVUUISGMZF (D) _CVUUFSGMZ
70. W XFEAL,MNZFINATIARP, ZHMRorde, AP, v & fra femd 2 2 . L'{\!@
Lt’A) fagor.qd (B) IuT-ufam (é Zforafam (D) I
) é O is in the East of X which is in the North of Z. If P is ‘iulhe South of Z, then in which direction of Y is P ?
(A) South-East (B) North-West (@}t South-West (D) North-East l T
71. ) U SR T T IS Y 25% 1 W A | u&aﬁsﬂssﬂ(& i lrear 31 38 T 732 T § =, A V/56%
T AT BT | S oh 5 T T T 2 . %[D JAY
’L \ A person sold a horse at a gain of 25%. Had he bought it for 35% less and sold it fo\ T 232\]¥ss, he w
have made a profit of 36%. The cost price of the horse was :
F (A) 2,000 (B) 2,500 (C) T1,800 ’ (D) 1,500
' >< 72. 3k EXAMINATION FI VCZNRMZGRLM % &4 ﬁw fefarT ST 2, S WR]TTEN 1 ot SohR 2o

fora s 2 0 [qgo
INATION is coded as VCZNRMZGRLM, thf:‘nlhow will WRITTEN be coded ? <
- _’-—'/———_
) IRGGVM IDGRGMV ((Q) DIUGGMV (D) DIPGGMN ’@’@
73.

A. B 31 C &1 3ftad asH,600 fhemm € | afe A 3tk Bt sitwa asm 30 framm™ € @1 B 3R C &1 3ieq

o 70 fFum 8, AT B fTasH T g 9 ! O)
(A) 18 fereiam (B) 17 fereimm (G 20 foreitarm (D) 21 foreimm
& The average weight of A, B and C is 60 kg. If the avggage weight of A and B is 30 kg and that of B and
C is 70 kg, then what is the weight of B ? R) :
_____S:-‘_\_)-_lfi_k_g_ _______ (B) 17kg (C%“ 20 kg (D) 2lkg
Gwz24 T Page 10 0f24 TR
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65. K. LAHRaM N, L RNagad) N KRNI vafsoMA TR OFKFFEATR 2

(A) wH (B] @ () wf (D) firar
K is L's wife and M is L's sister. N is the daughter of K, while O is M’s mother. What is the relation of O
toK?
(A) Father-in-law (B) Mother-in-law (C) Mother (D) Father
66. @ 7 sjmen # & fawm (Ane) i v Aifsg
Find the odd one nulgliiwm given series : O
486, 482, 478, 474 @ 6‘ y
(A) 466 (B) 478 ®) ] 472 (D) 474
67. UF W 50 Frcinfier wfi i 9 nfa @ 250 Pz it gt da Felt & | 70 O 0 i e w2
(A) TW (B) 5% , (@;1 ) 6 52 (D) 4%
A bus travels a distance of 250 kilometers at a speed of 50 kilometers per hour. How much time will/it fake
to complete the journey ? :
(A) 7 hours (B) 5 hours (G4 6 hours (D) 4 houfs\ —
aﬁh R0 ©) @
ber in the followmg sequence ? N B
(?ﬁé’m ' QL
(A) 1080 (B) 2160 (C) 0 (D) 360
7t INSECT #1 JQTFDU, HOUSEFLY %I IPVTFGMZ & 9 # Fzas fohar 5irar &, @ BUTTERFLY &
fore yarm Fpearg forma s 2 &
© PLDIINSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERFL l
(A) GMGUUCVF (B) BVUUGMSG (ag)‘ CVUUSGMZF
L P XFEAR N ZzFIWAR AR P, zH RO A, %Y#ﬁmﬁwﬁ%? L»l‘!@
L{(A) aféorgd (B) Sut-ufim & <fror.afim (Dy ITCqd
) éo is in the East of X which is in the North of Z. If P is m-}.hc South of Z, then in which dlrectlon of YisP?
(A) South-East (B) North-West (GYE South-West (D) North-East
71. | T A 4 T HIQ FI 25% T 9T =T | AfE 98 9 359 odaﬁqﬁ@ﬂ?:maﬂtsﬁf 732 SH & S=ra, @ 39
BT AT BT | 61 o 563 T T T 2 %é}
1 \ A person sold a horse at a gain of 25%. Had he bought it for 35% less and sold it fo ss, he
have made a profit of 36%. The cost price of the horse was :
(A) %2,000 (B) %2,500 (C) %1,800 ' (D) 21,500

72. 3k EXAMINATION %I VCZNRMZGRLM & &9 | Wﬁw ST R, WRJTTEN ! o JehT FHearg
ERI ? p t\ )

INATION is coded as VCZNRMZGRLM, théﬂhow will WRITTEN be coded ? a

IRGGVM IDGRGMV (@) ) DIUGGMV (D) DIPGGMN T} @

73. A B 3t C &1 3ftaa awm 40 el 2 | aft A st B3 sitaq awm 30 freiiom & o B 3R C &1 aitgq
g5 70 freimmm 2, dt B T a5 412 2 - {7
(A) 18 fremm (B) 17 feretmmy (G- 20 fereitmm (D) 21 feremm

The average weight of A, B and C is 60 kg. If the avgrage weight of A and B is 30 kg and that of B and

C is 70 kg, then what is the weight of B ? &) _.
L 1R ©) Wkg ot D) 21K
Gwz24 T Page10of24 Y
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75.

76

77.

78.

9.

80.

0.2 P ' / Qs %

40 BT 7 TF FE1 A, 15 37 Fhe Qe # i 15 O 2w Qe £, o S o6 A de e ¥ | A A
F13 oft @ 78 W T B i dEn d

In a class of 40 students, 15 students play cricket and 1§ ?udcntq play tennis, and 5 students play both the
games, Then the number of students who play neither of the two games is :

(A} 10 (B) 15 (C)~35 (D) 25

0.05, 0.5, 0.25, 1.25 1 H&wH XY (HCF) T1d 5)
Find the HCF of 0.05, 0.5, 0.25, 1.25. 9
(A) 0.5 (B) 0.05 B 25 (D) 1.25

T S wE 31 Hif @ 4, 6,7, 8 mgﬁﬁnﬁawﬁmwmﬁﬁmsmé n
Find the smallest wu which when divided by 4, 6, 78 and 9 leaves the remainder 3 in each case.
(A) 504 (B) 507 (C) 510 (Dy 501

e 30 SeTel h AT e 40 A 5 Yo oh qOe R, A wif gfowra F e 2
If the cost price of 30 tables is equal to the selling price of 40 tables, then what is the loss percentage ?
(A) 30% (B) 26% (€Y 37.5% (D) 25%

T et el 50 dat T 10 46170 S @ R T 10 7 5 TR A T e | I T8 QAR
FIE20H 9F Y Jaren & | Iweh @ A1 e ()2

(A) mmlg% (B){,\ nﬁm1§%

(€) wf afawe 12% (D}‘Fh'e'rﬁqm

A fruit seller buys some oranges at the rate of 4 for T 1 agnd an equal number more at 5 for T 10 Then he
sells the whole lot at the rate of 9 for T 20. What is his los or gain percentage ?

: 1
(A) Gain percent 18_5; % (B) Loss percent l;—gl— %
(C) Loss percent 12% (D) No loss or no gain

(
W Yot 3 o ffda @ 150 fAt § g e % j200 sttt 1 e fomm | af 50 foAt o et
Ueh-=TUTS S fehaT T, 1 QU W Rl A O FRA o, Ry e S At it it i s w®n
297 r’)
Indian Railways employed 200 workers to complete a ¢errain work in 150 days. If only one-fourth of the

work had been done in 50 days, then to complete the wholf: work in time, what is the number of additional
workers to be employed ?

(A) 600 (B) 100 (C)ugﬂﬁ (D) 300

12 959 3t 18 Aigard ws Fm A 10 fA # 0 wend & | Qe 3 18 Afeend 6t wm #i 12 R § w0 aw
# 1 afd 2 o 3fit 3 nfeemd v wrer It W R A §, A o T e §

(A) 70fH (B) 80f (C) 60T (D) 50

12 men and 18 women can do a work in 10 days. 9 men and 18 women can do the same work in 12 days.
If 2 men and 3 women together do the same work, in how many days will they complete the work ?

(A) 70 days (B) 80 days (C) 60 days (D) 50 days

e R R e

GW.Z-24 Page 11 of 24


https://v3.camscanner.com/user/download

5I. vrfpdt e it NS AT e i i IS =
e o st it szt a PTE Lk e Bl R =5
s ek 2 o8
(A) 1208 By 1T0= (C) 1234 (D) 124730
Two tramns travel m the same darectaon 22 59 Im b and 32 o' by and the faster train pesses 2 man I e
slower tram m 16 -scxr,r.d-.t Find the kength of the faster train. et
(A) 120m B) 170m O 1Ba < (D 14m

. (fmFE o ndr ST EwERl R o iR IaERRtEIESw
et ot o e o o 2
(A) S8&FZ (B) 6755z O ssdE= C (D) 5585
A 67 meters long tram crosses 2 tunnel of length 33 meters in 10 ssi¥ods. Find the tme for the tam o
cross a man standing oa a platform of length 65 meters.

(A) &K seconds (B) 6.7 seconds () 45 secondsG (D) 3.5 seconds

8. Ay FTmR ARt FE Sl iR AT e IR
w#mwmmf“nn
Two types of nice rates are T 11 kg and T 21 kg Find the rato of the two types of rice to obtain 2 mixnmre
ofrate ® 1 7kg -~
(A) 1:1 (B) 3:1 ©) 2:3 ~ D) 2:1

84. 125%FATIE TN FF T I TR A TG ? S
(A) 87% (B) 1294 (C) 10=% ;* (D) 2059
In how much time will an amount be doubled at the rate 0f 12.5% 2 ==
(A) 8years (B) 12years (C) 10 years & (D) 20 years

85. ﬁﬁiﬁaﬂtfﬁﬁmzzl%ﬂiﬁlﬁﬁ%léi3%ﬂi’?ﬁﬁ€éﬁﬁ%4:l%’:ﬁ%ﬁﬁ?ﬂﬂ%%lﬁﬁ'
fifer sfit G 21 1 3 e s 590 € 10,000 2, T 5% =1 A+ 319 906 HI1¢ |
Nikhil and Reetu eam in the ratio 2 : 1. They spend in the ratio 5 : 3 and save in the ratio 4 : 1. Find the
monthly income of each, if the total monthly savings of both Nikhil and Reetu together is T 10,000.

(A) %10,000,T5,000 (B) T28,000,T14,000 (C) £8,000,T4000 (D) T2,000,% 1,000

86. qmqﬁmnqaawaraaﬁamaﬁmw.mm%ﬁsmmﬁam%lﬁmwrﬂ
STy 3iF1 F1 30% TR @1 2, T2 I40 3H & 20 3F A0H MW FaT ¢ | 90 21 o saws
gfasa | 2 <
In an examination, a student who gets 20% of the maximum marks faﬂ?b} 5 marks. Another student who
scores 30% of the maximum marks, gets ZOmarksmorelhmthepaS@mmarLs The percentage required
for passing is :

(A) 27% (B) 42% (C) 20% % (D) 22%

87. Tad F ufd o wea 1 25% 1 fg F vRomraEy, o =i T 1,200 §8 fFm w0 wme gl g @ | 915w
1 wfa foran wrifv qea w@r ar ? G)
As a result of 25% hike in the price of rice per kg, a person is unable to purchase 6 kg more rice for
% 1,200. What was the original price of rice per kg ?
(A) T40 (B) T30 (C) T60 (D) TS50

GWZ24 T TTTTTTTTTTTTTTTTTTTTTTTTTTTTTT Page 12024 TTTTTTTTTTTTTTTmmmmmoomeooT
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88, wh Rfka wufi wo @Y and & fov 50 Y 7t & wmamor s € 1,600 R 1 3 @ F A wHA 3 0 TG I
(@fi w7 & @i =) 30 £ |
The simple interest on a certain sum of money for two years at 5% is  1,600. Find the compound interest
at the same rate after 3 years, interest compounded annually.
(A) T2,522 (B) 2,520 (C) 2,355 (D) %2,555
89. T 475 3ifeha 3 15% P2 TR A o A W R g R 2
What is the discount on a pair of shoes marked at € 475 and discounted at 15% ?
(A) T72 B) T70 <] (© 7525 (D) T71.25
90. T IHIRR Th T & AfHd 95 W 10% 1 P2 FaT & A g2 ATt e W 8% 1 foreht o wpman 2 | 4
e forshl ¢ afedt s 3 w0 3 € 34,020 %1 AT 0 2, 7 3 ged Rea R 2
A shopkeeper allows a discount of 10% on th (mjarked price of an item but charges a sales tax of 8% on
the discounted price. If the customer pays % 33,920 as the price including the sales tax, then what is the
marked price ? o
(A) 35,000 (B) ¥34,000 @) (C) %38,000 (D) 739,000
91. 3l x 3 % (x#0) F1 e m &, 2 ke L a2
X
If the average of x and % (x #0) is m, then the average of x2 and ;]? is :
(A) 1-2m (B) 1-3m? O (©) 2m?+1 (D) 2m?-1
92. T 9 SHHNTA W e 1 e 132 B, dl vgeh F{ sifew dearsii 1 siat F1a R |
If the average of 9 consecutive even numbers i§ 132, find the difference between the first and the last
numbers. (3
(A) 15 B) 19 ® © 18 (D) 16
93 12-02-2022 % 11-02-2023 T 15% Sfe ad ot ek 73,000 TR Ao ST 2
The simple interest on T 73,000 at the rate of I%per annum from 12-02-2022 to 11-02-2023 is :
(A) T10,950 (B) %12,050 ® (C) T14,750 (D) 13,450
94, WA %1 Y& BATS 37T Tl T fezya o 2 '
(A) eIl (HIAHAT) (B) fooeht
() () (D) W& (F7d)
Where was India’s first airport located ?
(A) Calcutta (Kolkata) () (B) Delhi
(C) Bombay (Mumbai) (D) Madras (Chennai)
95. T i raEr ¥ forw, dame 3, GSTtiwﬁsz Svitee frfire i 7 d o
(A) T10TE (B) TS5 (0 Ts0TmE (D) T20W@
What is the threshold limit for GST registration% businesses in India, for services ?
(A) %10 lakhs (B) %5 lakhs 4t (C) T 50 lakhs (D) T 20 lakhs
96. fora e feaw Fa WA @ @ 2 o
(A) 93T ®B) 103 @ ©) 15IFwRH (D) 3 I
When is World Post Day celebrated ? ¥
(A) 9™ October (B) 10" October ( C)_|_51h_ October (D) _{ffl_(}fl_o_t}‘_f _____________
GWZoa4 TTTTTTTTTTTTTTTTTTTY Page 13 of 24
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97. S 2024 TF W TR AT F A A 27
(A) i o B) fmrzm (C) 4 fiiz (D) Tz urt
Who heads the Union Ministry of Home Affairs as of June 2024 ?
(A) Amit Shah (B) Nityanand Pai (C) Rajnath Singh (D) Narendra Modi
98,  sfeaa Fvme wiw i v e A 7 oy
The Indian National Congress was fou d n which year ?
(A» 1885 (B) 1857 (C) 1947 (D) 1905
" (<)s 55
99, mﬂaﬁmﬁmimmmﬁaaﬁg‘qmam%?
(A) & 8T F gwareA F I FTATR | J
(B) T® Sfuaial %1 dvifan w71 A7 70 & vgar § w2
(C) T& 3= 291 % Trg wadi & g7 271,
(D) e SEFATE HeAt F1 A v gy 7 %1 Al w20 8 gufad 773 4 aeEd a2 |
In what ways does information sharing become important in fighting terrorism ?
(A) It strengthens the military’s capabilities.
(B) It allows authorities to identify potential threats more quickly.
(C) It improves relations with other countries.
(D) It allows terrorist organizations to coordumc attacks more effectively through security agencies.
100. maﬁmmmmw#n#rt{fq" A A A AATE 7
(A) aieres (B) 74 . (C) 9zH (D) =mE
Which of India’s neighbouring country is knpwn as the “Land of Thunder Dragon” ?
(A) Bangladesh (B) Nepal ©) (C) Bhutan (D) Myanmar
101. ﬁqﬁmnaﬁmmﬁr&mmﬁrﬁ?ﬁ%? |
(A) FHIF: (B) T 4 (C) = (D) T=mm™
Which of the following is not a Social Meg4 Platform ?
(A) Facebook (B) Twitter (3 (C) Google (D) Instagram
102. ¥ guiaAel e ave St 71 25, ¥ F1 AT A1 F1 IHFA 04 3T ATTF T
wﬁamqmmmﬁquTm%I
(A) feafsim (B) VPN (C) ¥=fEfim (D) 7= fsfaim
uses images with malicious files in them, meant to help a hacker steal your account information
or infect your computer. O
(A) Smishing (B) VPN d (C) Catfishing (D) Image phishing
103. ST ToRTsT 1 TS FT 2 2 O |
(A) wRZEw (B) FFiE P (C) ZFEf= (D) afFm fad
What is the capital of Republic of Croatia ‘7‘) ‘
(A) Amsterdam (B) Zagreb O (C) Dubrovnik (D) Mexico City
104, FTUET I 9 & o et & aiania smar 2 f‘g
(4 TG TR ® (B) mfsamEm
(C) mgu (D) qe=TET
NOIDA comes under which district of Uttar Pradesh ?
(A) Gautam-Buddha Nagar (B) Ghaziabad
) Mas vt (D) Pulnishabiar
ot BN =02 herheheameRese
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97. S 2024 TF €Y R AT F W@ FA R ?
(A) i e B) Pz w (C) Ty i (D) iz A
Who heads the Union Ministry of Home Affairs as of June 2024 ?
(A) Amit Shah (B) Nityanand Rai (C) Rajnath Singh (D) Narendra Modi
98. mwmﬁwﬁwaﬁﬁ@m
The Indian National Congress was fi oundcg,ifl which year ?
(A» 1885 (B) 1857 ki (C) 1947 (D) 1905
99. Wﬁaﬁﬁmmmmaﬂ%’ém@ﬁm%?
(A) mﬂmﬁmﬁaﬁwm% |
(B) %mﬁmﬁﬁmmﬁﬁuﬁ%ﬁﬁmﬁmwén
(C) T8 3= 211 % WY e} & U T,
(D) & ATGHATE TSN i G TSAGAT gIy et bt A FTell 31 & Fof-ad e § Feradl i € |
In what ways does information sharing become important in fighting terrorism ?
(A) It strengthens the military’s capabilities.
(B) It allows authorities to identify potential threats more quickly.
(C) Itimproves relations with other countries.
(D) It allows terrorist organizations to coordinate attacks more effectively through security agencies.
100, T 3 e e 21 Y ekt 3 o s R & T 2
(A) wiTETe (B) AU ‘«5] (C) R (D) =R
Which of India’s neighbouring country is [m})wn as the “Land of Thunder Dragon™ ?
(A) Bangladesh (B) Nepal (@J (C) Bhutan (D) Myanmar
101. Feferfea 3 & wH-a1 de fifean s 7ET R 2
(A) HETH B) T €) T (D) ¥&E™
Which of the following is not a Social Meg Platform ?
(A) Facebook (B) Twitter (@) (C) Google (D) Instagram
102. % gqufarqel wrselt archt ofert #5137, R F 9E @ A TEHR T AT AT TGS H
Tehfld w0 8 7eg F & fog frar smar 8 |
(A) ffym (B) VPN (C) Fefofymr (D) 30 ff¥iT
uses images with malicious files in them, meant to help a hacker steal your account information
or infect your computer. ®)
(A) Smishing (B) VPN <] (C) Catfishing (D) Image phishing
103. FRITRTET TURTSY i TSI T & 2 O '
(A) THZER (B) SIS P (C) gl (D) AfF! fdt
What is the capital of Republic of Croatia ’{:,) »
(A) Amsterdam (B) Zagreb ‘\.—'] (C) Dubrovnik (D) Mexico City
104, UET I 39 F forer foret o sfentar s '{5
(A TAH-TG TR ® (B) wfSmEmETE
(€) Aqu (D) et
NOIDA comes under which district of Uttar Pradesh ?
(A) Gautam-Buddha Nagar (B) Ghaziabad
(C) Mathura (D) Bulandshahar
2 i A T e
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105,

106.

107.

108.

109.

forefar e 1 (FSB) FM FEI R 9

(A) e foelta feeren gffem s )

(B) e g v Fetr St 3 g e 2t o Freifr e
(C) TR Y wawd il & fawft qan sigw #1 waive Fean R )
(D) 38 fyeavfia 3w = f5fig gemar e w21

What does the Financial Stability Board (FSB) do ?

(A) It ensures financial stability, (. )

(B) It regulates interest rates for central banks wotldwide.

(C) It manages the foreign exchange reserves of i(s member countries.
(D) It provides financial support to developing cotntries.

SHTEt < Siie GeEet & &9 § F9 1 T 91 7 tjf:;j)
(A) FAfHam F==q (B) TEEE@ER - (C) frem i (D) firerT arghmn
Who was chosen as the brand ambassador of GS'I:“;

(A) Amitabh Bachchan (B) Shah Rukh Kh:lpr 3) (C) Shilpa Shetty (D) Deepika Padukone
mmﬁ%m%%qﬁq-maamm%:f'

(A) Ffrm (B) (C) ®EEH (D) faferehi

Which element is essential for the production of nuclear energy ?

(A) Uranium (B) Carbon (C) Hydrogen (D) Silicon

g T S T ferlt 2 @)

(A) e g @) afdime s

(C) T Nty O(D) ek T

Who wrote “The Scarlet Letter” ? {_—_9

(A) Nathaniel Hawthorne f.:, (B) Washington Irving

(C) Herman Melville (D) Mark Twain

TRt ey e e e e e o e e T e e o g 82
(A) Hug= (B) e @ (©) Frap il (D) QT

Which social media platform has a feature called “Streaks” to encourage frequent communication between
users ?

(A) Facebook (B) Twitter (C) Instagram (D) Snapchat
110. ToTTa TSIEST hi T el oo off 2

(A) W (B) Hiefige Q© &g (D) AT

The capital of the Pallava dynasty was located at ~

(A) Madurai (B) Kanchipuram _(C) Mysore (D) Thanjavur
111. Freferfad # & wi9-dt @ wig it s+ & <= ﬁj‘m%?

(A) T {i}(B) fermbie wmga

(C) 49 Feetar ameA () -8y T

Which among the following lines is a boundary b&!ﬁ/cen France and Germany ?

(A) Senger Line ) (B) Siegfried Line
(0 49"parallelLine (D) K-wLipe
GW.Za24 T Page 15 of 24
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112,

113.

114,

115.

116.

117.

vz mmam wefemer (DGFT) fv virera & affa amar @ 2

(A) aftrea vd Feim T

(B) fam e

(C) fazwm e

(D) qem, @ 3 Tomm Jaw HEe

The Directorate General of Foreign Trade (DGF’]:)'gqmes under which Ministry ?

(A) Ministry of Commerce and Industry
(B) Ministry of Finance ‘\J
(C) Ministry of External Affairs ( )

(D) Ministry of Mirco, Small & Medium Enterﬁn?es

et ﬂmmﬁmﬁ%m@ﬁﬁﬁ@eﬁ%ﬁﬂﬁq%ﬂ%ﬁﬁmmmﬁ
LR

4
(A) TifFEH (B) SHMIH o (C) Fiemadr (D) HMR
The Indian Agricultural Research Institute has dqzkngnded legal action against which country for cultivating
basmati varieties protected in India ?

(A) Pakistan (B) Afghanistan (C) Bangladesh (D) Myanmar
IA-H1 WA T 31 St “areety Ferenet & fore ST S @ 2 -
(A) sfifem (B) WeH Wou (Q TN (D) Hews
Which Indian state is known for its unique ‘Warl{’ paintings ?
(A) Odisha (B) Madhya Pradesh <:] (C) Rajasthan (D) Maharashtra
WA AR T Srefiver FROT 1 8 2
(A) WS & qHH § 3 O (B) v woch geheAT

‘ G)
(©) e @) agﬂsragmcozwmﬁw
What is the primary cause of ocean acidification {j
(A) Increase in sea-water temperature H (B) Overfishing
(C) Oil spills Cﬁ) (D) Absorption of CO, by sea-water
el e aTtafte s Wit & foraeht Seafer S e o form o g€ oft 2
(A) arEh (B) AT (C) et (D) TETH
“Chikankari~ is a traditional embroidery style that originated in which city of Uttar Pradesh ?
(A) Varanasi (B) Prayagraj (C) Noida (D) Lucknow
ST 3 eI 1 e H )
(A) a7 3 70 A T 7 ST <]
(B) ict arsy i Jufeufy (*}

(C) vad Yhr 1 yeholy (Foraw)
(D) m%a@m@%mwm(ﬁ@r@

The main reason for the blueness of the sky is H

(A) the absorption of blue light due to the air %
(B) the presence of water vapour @)
(C) the scattering of white light -

(D) the scattering of sunlight by air molecul_e_s
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118.

119.

120.

121.

122.

123.

124.

T ot T, foren &t o foe &, @@ AR 0

(A) T (By pearet (C) e 2fm D REET
Raman Subba Row, who passed away recently, was associated with which sport ?

(A) Hockey (B) Football L/ (C) TableTennis (D) Cricket
Frerferfan 3 & form srme ot srgwor vt (i) e 2 9

(A) Ffir e B) @ty () (C) I (D) &1 g

Which of the following types of pollution is cultfial (accelerated) eutrophication ?
(A) Thermal pollution (B) Noise pollution <| (C) Water pollution (D) Soil pollution

TR ST 61 -1 T T % <Hify e Rigid @ gafia 2 2

(A) wRTIII (B) w1 ol (C) WV (D) WRTIV
Which part of the Indian Constitution deals with(lie Directive Principles of State Policy ?
(A) Part1ll (B) Partll (C) PartV (D) PartIV
i T AT fraeie foress g foralt i oft 2
(A) Ao (B) wereeht =
(C) iewta Hrardt Fre , (Dy SETEEe 46
The book ‘A Life Misspent” was written by whotn'?
(A) Maithilisharan Gupt ~J (B) Mahadevi Verma
(C) Suryakant Tripathi ‘Nirala’ (O (D) Jawaharlal Nehru
1946 3 fengsieror % oA RBI F i AR &7 ©
(A) 9. gewe () (B) Feiamor g Yo
(Cy ifeheria e H (D) TR
Who was the Governor of RBI during the demofiétization in 1946 2
(A) D. Subbarao @) (B) Chintaman Dwarakanath Deshmukh
(C) Shaktikanta Das . (D) Urgjit Patel
el SR U i fifey e aifi g oft 0
(A) H 2002 (B) T 2000 (C) w=ail 2004 (D) w2004
When was the first ever National Agriculture Po{ikc:y announced ?
(A) March 2002 (B) July 2000 < (C) January 2004 (D) March 2004
BRI &1 QU €T HRIT2 ? C:'
(A) Sz ue fufeer de6it @ (BY see Us frd shiftmefea
(C) etz T shftmfea {51 (D) 3 Uz T sffimfea
What is the full form of BRI ? 4
(A) Belt and Republic Industry ;té (B) Belt and Resource Initiative
(C) Basic and Road Initiative @} (D) Belt and Road Initiative
fafire safrat i 30 T = GRa Fi Gat A grer 1 HiRw wa @ S ey S |
(A) it (B) W Rl (C) foa fiRfyim (D) Efi

tries to trick specific individuals into jeopardizing the security of the organization they

work for. :
(A) Sneaking (B) Cyberstalking (C) Spear phishing (D) Spamming
Gwz24 T Page 170124 T
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126.

NHRC &1 ol &7 1
(A) 3 o Tz e, e
(C) et & rsfeera e, e

(D) ﬁ?ﬂamﬂﬁam{ﬂw HER)
What is the full form of NHRC ? O
(A) Natural Human Rights Commission, In i

(B) National Human Rights Commission, lnda
(C) National llumanlﬁ_gw num%a\

(D) National Humanity Rights Commmsro@dla

127, € 1985 F - st a sifie e e oh 2
(A) Fa (B) 3 H () wfer (D) T=A
The year 1985 was declared as the Imcmatiovg‘{ear of
(A) Youth (B) Blind (C) Women (D) Children
128, g fafirat secemenad o affirarei < Sem o o e 3 31 1 St S IS F §
e F |
(A) RHETHE (B) wAM
(C) T O (o) fube
research methods allow for in—depﬂ and further probing and questioning of respondents based
on their responses. O
(A) Quantitative (B) Action
(C) Qualitative ® (D) Mixed .
129. 3THIHT 3 AT-IR S TH aTet Teet A Hi_8 | |
(A) WEFF (B) fw frier o © FHAfE skt (D) Toram wwm
Who is the first person to run across Africa ? F
‘(A) Russ Cook (B) Dennis Kimetto (C) Kenenisa Bekele (D) Sisay Lemma
130. WTET WRA it Te® ot T F AT R 2
(A) T (B) werdt (C) Fom (D) TeTRt
What is the name of the longest river in Peninsular India ?
(A) Narmada (B) Mahanadi (O  (C) Krishna (D) Godavari
131. ad ﬁmﬁ@umﬁwm%wﬂ%mmwmﬁmmﬁmwmﬁﬁﬁ
uftee g foreenfira foram man |
The Umled Nations Commission on Human Rjghts was replaced with the United Nations Human Rights
Council for the enforcement of international haman rights law in the year :
(A) 2001 (B) 2000 (C) 1998 (D) 2006
132. feU e s # et A gu, a9 <’ m%ﬁtﬂwaﬁ%&mﬁﬁ ?
Given the pattern in the provided combinatiol@)how would you express the combination represented
by ‘P 7
AZ3B, CY6D, EX9F, ?
|
_____Q-)__IVISJ (B) GWIZH ___;_'____(_(_311_3\1_2210 (D) Kx18L
GW.z-24 ~TTTTTTTTTTTTTmmTTTTTTTTTT . Page180f24 o TTTTTTTTTTTTTTTT
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133.

134.

/.

T TRt Y S g R g ke 3 e, e 40 we o al % gl o A 3 R 1 Prden # 3w wfeen @
TEE R ?

(A) # (B) Fam © Rk () &

Pointing at a woman, Nirmala said, “She is the daugh\tTr of the only son of the mother of my sister.” How
is Nirmala related to the woman ?

(A) Mother (B) Paternal Aunt @ Cousin (D) Sis‘e.','_-

T e A O R, S e wa .
(A) afra (B) FewmF - @ T (D) WT-To &

Soap is related to Clean in the same way as Perfume (@}elated to :

(A) Freshness (B) Smart (C) Smell (D) Neat
135. ST SR FATR ?
What is the next letter ?
PaQurds. O
(A) ) U (B) T § P (D) R
(A) FE (B) =ifEita fv
© Fredd W) @ O\ A
Curtains are related to fabric in the same way as b!in@am related to : Q/ ‘
(A) Covers (B) Cords
(C) Lifters (D) Slats
137. &S HER Y i dwd g, 3 2 5 e de w3 s w2
Given the ~pdttérn in the provided numbers, l@; woylg”you express the m}n'grv represented
by’ '
m , 125,172,343
(A) 34 (B) 22 o\
138. U =Afh 15 et qd it 7R =o€, ﬁa‘tmm%@wtﬂaaﬁm% 6T Sremr ST mgam & i Iptte
STl & | e YEeATd foig & R @ 2 2 F
(A) 107 @ 15 e ’ {,1
(C) 18HX 20 HieX '
A person walks 15 meters east, then turns left and walks 10 meters, th 1 tumns left again and walks
15 meters. How far is he from the starting point ? 'Y
(A) 10 meters (B). 15 meters
(C) 18 meters (D) 20 meters
GWaa T T T T Thageoof2d T
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145. 140 ferenfifat 3 wefeor & g w6 60 fremef et i Ser gae w0 8, 70 R g I e w
Fd &, 71 75 Tt arrazeR i e vee w ¥ | 3a il 30 o R R STEeE A A wHE
18 Y Fifeat i 3iR 3Tz i AT B THe £, 42 FY e A ok s i ST Wt 76T § a9 8 gt
TR & T TGT & | 3 3TE 1 IGANT ek 37 BT ! 1 HIVT S haet SN Tl Terd & |

In a survey of 140 students, 60 students like to Ela)y video games, 70 students like to play indoo
and 75 students like to play outdoor games. Addifignally, 30 students like to play both inddoryand
games, 18’ like both video games and outdoor g?njcs, 42 play both video games and ind&gam' '
8 like all types of games. Use the Venn diagram lﬁfmd the students who play only outdcg%g mes.

(A) 64 (B) 35 @(C) 32 (D) 57

146, A 319 Sfeor-afim i 37K e Fh @3 & i 189}‘%9331‘{'@:@%%,3%@@%%%3&%5&

@R ? o
(A) Iut-ufim B) Mm@ (© (D) aféor-gd
If you start facing South-West and turn 180 degrees to your righf, what direction are you facing now ?
(A) North-West (B) South-West (C) North'East (D) South-East
147. e a1mq Yo & uftm Y i e ek 270 foft afionad qea &, @ o wm frm R d e ek @e € 2
(A) & (B) ufsm ) ] fem (D) SW-UEm
Which direction are you facing now, if you turn 2§(] degrees clockwise from facing west at the beginning,? é 0
(A) East (B) West (O (c) South (D) North-West yé

@& zrf%p>q=p2+q3aﬂtp<q=p3—q2,a’t(1>2)<@2,3=

Ifp>q=p*+q’ andp<q=p’ - then (1 > 2} 3 =

(A) 480 . .. (B) 600 g;:((:) 840 (D) 720 &
149) Tt srpsmm i srieh & wiie IR 3 3a% 918 37T a1 9o 1 S AR | 96 %@

RK53#B2%*E?A8LSI4SV7IC6N@HI!13D \

i P orar &, ot & el & e e i A AT T R 3 7 '7@’

Examine the following sequence closely and resp(on)d to the question that follows.
RK59#B2%*E?A8LSI4SVTIC6N@H13D
How many letters are there, each of which is qumcdiately preceded and immediately followed by a

symbol ? O
(A) 1/ ®©) 3— (D) 2—
150, Frfofaa 3 & F-d sThi arh & st § 2 g
-
() @t (B) ¥ o33 (C) it (D Frior
Which of the following shapes is different from thig}yest ?
(A) Square (B) Circle (C) Sphere (D) Triangle
e 7 Y 0 T


https://v3.camscanner.com/user/download

